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1. Introduction
In last meeting, RAN4 agreed the test case list and a few test configurations for FR1 inter-band SSB-less activation, the WF has been approved [1]. In this contribution, we provide our views on the FFS specific test configuration.
2. [bookmark: _Hlk70326378][bookmark: OLE_LINK1][bookmark: OLE_LINK2]Discussion
Issue 3-1-2: Detailed configurations for  FR1 inter-band SSB-less activation/deactivation
Agreement:
· Test cases for FR1 inter-band SSB-less activation based on TRS/A-TRS in non-DRX need to be defined
· The legacy R15 test scenario configuration can be reused. For PCell and SCell, the combinations of any two configurations among 15kHz/≥10MHz FDD, 15kHz/≥10MHz TDD and 30kHz/≥40MHz TDD are supported
· Reuse the TRS and A-TRS configuration in legacy Fast SCell activation test case for SSB-less SCell
Proposals
RTD
· Option 1: 4µs for SCell 15kHz SCS and 2µs for SCell 30kHz SCS. (CMCC)
· Option 2: RAN4 to define the following test cases with RTD<=CP corresponding to the SCS of SSB-less Cell. (Ericsson, Huawei)
Power difference
· Option 1: Set EPRE difference between PCell and SSB-less SCell as 9dB. (CMCC)
· Option 1a: The EPRE difference between the reference Cell and SSB-less Cell is configured as 9 dB + ΔPL in the test cases, where ΔPL is the pathloss difference caused by frequency difference between two Cells. (Huawei)
· Option 1b: Configure the target inter-band SSB-less SCell to have a power level that is [< 9 dB] higher than that of the PCell and use an AWGN channel for the setup. (MTK)
Others:
· Option 1:  Don’t configure the parameter SCell measurement cycle (measCycleSCell). (CMCC)
· Option 2:  Design two time periods (T1 and T2) to verify the SCell activation procedure for inter-band CA SSB-less SCell. 7s for T1 and 1s for T2 can be the starting point. (CMCC)
· Option 3:  The TCI.State.2 could be used for the RS(s) of the SSB-less SCell. (CMCC)
· Option 4: The TCI.State.0 could be used for the TRS of the SSB-less SCell with an additional note that the reference signal is SSB0 from PCell. (CMCC)
· Option 5:  Don’t configure the parameter SSB configuration and SMTC configuration for SSB-less SCell. (CMCC)
· Option 6: For configuration of the TC for SSB-less SCell operation, it is suggested to test the scenario where both timing reference cell indication and QCL-C configuration are available for the UE. (Vivo)
RTD
Option 1 and Option 2 are not conflict options. We support the general guidance in Option 2, however, a specific value should be defined in the test configuration.
Since conducted test will be applied for FR1 test, the propagation scenario will not contribute to RTD. Therefore, for the timing offset from Cell 2 (SSB-less SCell) to Cell 1 (PCell), we can consider the worst case of receiving timing difference (CP=4.7µs for 15kHz and 2.3µs for 30kHz). We propose 4µs for SCell 15kHz SCS and 2µs for SCell 30kHz SCS to leave a margin for potential extra error from RF and TE.
Proposal 1: Generally, guarantee the RTD<=CP corresponding to the SCS of SSB-less Cell. Specifically,  consider timing offset from Cell 2 to Cell 1 as 4µs for SCell 15kHz SCS and 2µs for SCell 30kHz SCS.
Power difference
Since conducted test will be applied for FR1 test, the carrier frequency and propagation scenario will not contribute to received power difference. However, the UE could not differentiate whether it is under the test or not, thus it will still pre-compensate the AGC according to the carrier frequency and so on. 
To make sure UE with correct implementation will pass the test case, and to verify that UE could adjust the AGC of SSB-less SCell according to PCell AGC information and other pre-compensation information, we propose to set EPRE difference as [9 dB] + ΔPL in the test cases, where ΔPL is the pathloss difference caused by frequency difference between two Cells.
Proposal 2:  Set EPRE difference as [9 dB] + ΔPL in the test cases, where ΔPL is the pathloss difference caused by frequency difference between two Cells.
Others - TCI state
For SSB-less SCell in inter-band CA, one of the side condition is TCI state, which is:
-	The RS(s) of the SSB-less SCell being activated is (are) QCL-TypeA with TRS(s) of the SSB-less SCell being activated, and the TRS(s) of the SSB-less SCell being activated is (are) further QCL-TypeC with SSB(s) of an inter-band active serving cell, and the inter-band active serving cell shall be same as the reference serving cell.
Such TCI	state should be configured in test case. The TCI.State.2 could be used for the RS(s) of the SSB-less SCell. The TCI.State.0 could be used for the TRS of the SSB-less SCell with an additional note that the reference signal is SSB0 from PCell.
Proposal 3:  The TCI.State.2 could be used for the RS(s) of the SSB-less SCell. 
Proposal 4: The TCI.State.0 could be used for the TRS of the SSB-less SCell with an additional note that the reference signal is SSB0 from PCell.
Others - SCell measurement cycle (measCycleSCell)/SSB/SMTC configuration
Since SSB and related measurements will not be configured for SCell, the parameter measCycleSCell, SSB and SMTC are not needed to configured accordingly.
Proposal 5:  Don’t configure the parameter SCell measurement cycle (measCycleSCell), SSB configuration and SMTC configuration for SSB-less SCell.

3. Conclusion
Based on the discussion above, the following proposals are concluded. 
Proposal 1: Generally, guarantee the RTD<=CP corresponding to the SCS of SSB-less Cell. Specifically,  consider timing offset from Cell 2 to Cell 1 as 4µs for SCell 15kHz SCS and 2µs for SCell 30kHz SCS.
Proposal 2:  Set EPRE difference as [9 dB] + ΔPL in the test cases, where ΔPL is the pathloss difference caused by frequency difference between two Cells.
Proposal 3:  The TCI.State.2 could be used for the RS(s) of the SSB-less SCell. 
Proposal 4: The TCI.State.0 could be used for the TRS of the SSB-less SCell with an additional note that the reference signal is SSB0 from PCell.
Proposal 5:  Don’t configure the parameter SCell measurement cycle (measCycleSCell), SSB configuration and SMTC configuration for SSB-less SCell.
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